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29)) 22492 -0 =0, (m2—x1)?+@w2—n)>—0*=0 (1)
(1 43) &7y = £661(cos 01,sin 01) (2)
(2 47) 67y = £601(cos 01,sin 01) + £505(cos Oz, sin Os) (3)
OW = Foxo — my1gdy; — magdys (4)
(37r) = (Fcosb —myigsinfy —magsinby)l60; + (F cos by — magsin )60 = 0 (5)
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247) tanf = ————, tanfy = —— 6
(@ 7) P (ma +ma)g * 7 mag (6)
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(447) L :§m1£2912 + §m2€2(6‘% + 02 + 2cos(6; — 02)0102) + mygl cos by + magl(cos by + cosby)  (7)
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(247) Qi= F% = Fl(cos 0y, cos 02) (8)
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(14r) - STL =Q1: (my+mz)glsinh; = Flcosb, (11)
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(14r) - 6, = Qs : mglsinfy = Flcos 0y (12)
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tanfy = —— , tanfy = — 13
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Ty sinfy =Ty sinfy, Ticosb; =mig—+ Tscosby (14)
Tg sin 02 = F, Tg COS 92 = mag (15)
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tanf; = F , tanfy = i (16)
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